— %% F100m

#F W R EHEER
ROER AT AR

IR EEER (KR) 10. 13 HiE E5L(HAREEKR) 2002 9H5H 14:15 #hl—x
B{hV=%  18%H
1 (A:-1.1)
ENE V= fon = K4 W gt g Ak AV b
1 4150 JUAT  #=E5(3) I VEY) LS I = 10. 82
2 5 167 A& BE—(2) 07 avpn PUHTT & 11. 04
3 7 1647 B HC(2) [NV DES L& 11.09
4 9 163 AR T (2) k= FAxr MU HTM L& 11.26
5 8 182 FHJII & (2) e VAVEVES U A T 11.27
6 6 166 ITHEEN—ER(2) avh g an{fey PUATTIS 11.27 *TK
7 1 5602 AiH  #A(3) YL ank HRE R 11. 49
8 3 196 [A 58— (1) IHEN FauAF MU H L& 11.68
2 159 HiH EIR(3) wyd Ty LS I = DNS
2%H. (L +0.7)
IEhr V= fun - R4 Iy Prigth g 08k 2ivh
1 4148 ik ZEE(3) AVARZES U H T 10. 78
2 1 5371 JR FEH (2) N TART BEMEKR 11.24
3 5 4543 JE/K AR VIR vand T.G.K 11. 40
4 7198 EJIES(1) NMATD o M H L 11. 47
5 8 193 ZHIR: HEth (1) A% P H & 11.49
6 9 4164 AR Epih AVEN Y ULTIMAT 11.53
7 3 1089 Hikf FEAK(2) Tha7 Vank =EHK 11. 53 *TK
8 2 1098 #ATF  Fngh(4) L2 Y —HEK 11.74
6 4855 & K& VS N AVES ULTIMAT DNS
3x8 (. +0. 2)
EAE V= fon = K4 b PriEt i Aok /b
1 4 1431 JNEERE—ER(2) WAy YT au4Fay DU B T PR 11. 42
2 3147 i Fnik (3) AN AT Y VU H T 11. 46
3 1172 w3k (2) Ve VED) B PUH LS 11.54
4 8 1448 HH =141 9B ARy DU B T DU 11. 57
5 2 759 JIIH  #hfE(2) VZEEYES MR 11.63
6 9 1810 HAF H—(2) ThhT VAT SRR 11.78
7 6 1140 & 4D A YAN Fa A 11.83
5 189 MR #i3k(1) ZNEVI VU H T TE DNS
7 4176 g EL AV yya ULTIMAT DNS
448 (J&l:-0. 9)
IEAE V= = K4 Wt Prigth prjg AoEk A/b
1 8 4156 JE /A NIV VT A% KERAC 11.48
2 3 1275 7rH A#k ) W A MU H v & 11.59
3 9 1377 &%  #EQ) ) 14y =&EK 11. 64
4 6 169 & #iHk(©2) A% 4= bnd MUHTT L& 11.66
5 4 638 Nk JLE(2) VAT PR & 11. 88
6 5 1649 fRH A (2) 704 aktn L 11.94
7 7 1603 FH AT (2) EZ AN 3 A = 12.05
8 2 4747 MH  BIA h7% hEtm Ise TC 15. 42
1 1033 LA EFhlE (1) TvEh apk U H s DNS

JL5 DNS:Ri5 *xTKEZHY *TLEZELL



— %% F100m

#F W R EHEER
ROER AT AR

IR EEER (KR) 10. 13 HiE E5L(HAREEKR) 2002 9H5H 14:15 #hl—x
B{hV=%  18%H
5%H (Ja:-0. 3)
ENE V= fon = K4 W gt g Ak AV b
1 4 1002 fEE CHAIK(2) Fho I U H i 11. 58
2 9 1312 HE #3}(2) /A A U A TR 11.59
3 2 1453 o FAIE Q) A F vans DU A PR 11.69
4 6 1613 ERJILGEE (2) N vk T 11.78
5 8 1531 JEK A (2) KYOF APh U T 11.81
6 3 1601 K —kE(2) =y hATE HEVE 5 11.95
7 1 1001 Ak KiHfi(2) VIIAEV, MU H e 12. 02
8 5 187 ki Al (1) k7 73 WU H T 12. 11
9 71041 JEE R (3) Fay vavy Bl 12. 28
6%H. (L2 +0. 2)
IEhr V= fun - R4 Iy Prigth g 08k 2ivh
1 3 1813 =g FH(2) W% vay SRR 11.76
2 7 1533 FHIH & (2) Fofh 2y e T 11. 84
3 2 1433 fEiE Kk (2) VAR ZAL VU B i U 11.88
4 8 1307 PrAEAAR (2) A vvhmy U A TR 11.92
5 9 1081 fEAR #£3}(2) PEEIVEYAN = H = 12.00
6 1 1137 #&F #hRs ) )07 tn73 A= 12.00 *TK
7 6 996 kot EKEE(2)  TRER appey U H i 12. 02
4 1088 At PR (2) THhAT BAb i FH DNS
5 4147 ) FHHAHR vy vvhmy KEHAC DNS
THE (:-0. 2)
EAE V= fon = K4 b PriEt i Aok /b
1 6 4031 JE3E /AH] IWAA ASSA-TC 11.27
2 1 998 =M Q) ADF AV 2 U H i 11. 64
3 3 1648 @y K (2) t) any LEE 11.92
4 5 1435 @G B (2) LVINREUNY DU B 7 PO 11.98
5 9 1657 Tk Ak (D) 1T by TR -8 12. 00
6 2 1891 FHEMTF() AN = 12. 02
7 7 88 AR ILFAE (1) v vavtq BB 12.19
8 4 49 & IEE bhooany Al m)IEER 12.37
9 8 1812 #&dt  FngR(2) N AT Y e 12. 60
SkH (a:+1.1)
IEAE V= = K4 Wt Prigth prjg AoEk A/b
1 3 185 Ak JE(D THA Y b Mt E I 11. 65
2 4 1130 & HIE(Q) NG any” Fe & 11.76
3 6 348 AFF  #(©2) A2hT Thw P ) 11.93
4 2 672 SPEE fESF(1) AN /b MR 12. 00
5 1 1269 i fHE(1) A4 % 297 DU B P 12. 02
6 9 43 FEE H9R(3) AR VAVAN ¢ PE AR 12. 08
7 7662 (LS KHE() U 0 R 12. 15
8 5 96 KL B (1) VACUEDA¢ 7 BB 12. 30
9 8 1260 fEKk HH(2) TN VU A 76 12. 40

JL5 DNS:Ri5 *xTKEZHY *TLEZELL



— %% F100m

#F W R EHEER
ROER AT AR

IR EEER (KR) 10. 13 HiE E5L(HAREEKR) 2002 9H5H 14:15 #hl—x
B{hV=%  18%H
o (Ja:-0.1)
ENE V= fon = K4 W gt g Ak AV b

1 6 1043 #EH #E(2) VA% ey Bl 12. 09

2 4 1514 FHE 3 (2) £)91 iy Sl 12. 12

3 3 1107 fnH A& Q) ZARVEVEY i FH = 12. 14

4 1 1436 [LUARFIREI(2) Teth vanhay U H YR = 12.16

5 8 2049 A fFE (1) NEN Vaga Bl 12.25

6 7 1868 Sk #m—(2) A2hT 2m4F JiE = 12. 25 *TK

7 2 643 BJII fFR(2) MR 2 LiiySr=t 12. 28

8 5 1087 JJIR  #ith (2) MY =1 H 12. 33

9 1537 HAT X (1) FhA7 29 o TS DNS

10%H (JE:-0. 4)
IEhr V= fun - R4 Iy Prigth g 08k 2ivh

1 8 2054 Lt (1) Tv¥p bEY HF = 12. 16

2 1 1532 k¥ () A 3v)) = 12.23

3 3 771 WM ¥ (1) VB YAy W2 12. 26

4 7 1540 JII'F HEd (1) WovE any U T 12.28

5 2 4166 RIE A P yY vay ULTIMAT 12. 34

6 4 1834 #&ldl  HAE (1) VEy Ak 8BS 12. 35

7 9 1271 HiE R (1) AVARE DU A T VE 12. 36

8 6 164 E A (2) Y ank MU H & 12. 48

9 5 173 &tk (2) h= av% PUHTTI& 12. 60
1148 (&.:0.0)
EAE V= fon = K4 b PriEt i Aok /b

1 5 4692 x4 KHTE 2y = EpE 11.98

2 1 2035 ftE RE(1) AN vaye e HH 12. 24

3 7 1136 i)l KE (1) AFHY B A% FaA: s 12. 27

4 6 1007 =i JE(2) SCAVRZUNY U H i 12.29

5 2 1328 /hIRE K (1) %y VU A TR 12. 37

6 8 1620 HL K (1) Ty 4 AF AP = 12. 46

7 3 1261 FAJFU KA (2) YUNT AN VU B T 12. 52

8 9 1142 A& HhiE (1) VEEUREVAR S FaAE = 12.53

9 4 4740 RE  HE THON 47 Ise TC 12. 80
12548 (Ja:-0. 2)
IEAE V= = K4 Wt Prigth prjg AoEk A/b

1 9 772 YRR FEEQ) ThY HATH T2 12. 06

2 2 1450 UTHE CRFR (1) by vany VU B T PO 12. 24

3 6 668 [LUH CRFKR(1) ¥4 vftn P 12. 26

4 7 1871 HH EEXK(2) KV Bk 12.33

5 8 769 M (1) VAR ZES T2 12.53

6 1 199 HEQA B2 (1) /A EV] UHET™LE 12. 54

7 4 635 /T FEQ) Lzt aa PR & 12. 55

8 5 1059 fEl k(1) 79v% §AF il 12. 60

9 3 1084 &  fE—(2) . NNZ 5 H & 12.75

JL5 DNS:Ri5 *xTKEZHY *TLEZELL



— %% F100m

#F W R EHEER
ROER AT AR

IR EEER (KR) 10. 13 HiE E5L(HAREEKR) 2002 9H5H 14:15 #hl—x
B{hV=%  18%H
13%H (JA:+1. 0)
ENE V= fon = K4 W gt g Ak AV b
1 4 669 B —BA) JNT AFay M 12.27
2 9 195 ¥ZE k) Nt Ehv MU A LE 12. 41
3 1 674 K BE#Hk) ¥9% 29y = 12.41 *TK
4 7 1082 FAH KB (2) VA B AT =1 H 12. 44
5 5 1141 75pE  —Hx(1) A AATR Fe A 12. 50
6 8 1329 gk #AE (1) ANy yana® U A TR e 12. 64
7 3 1605 Z5fE EAE(2) Aby )77 % L 12.78
8 2 1330 Al Eh (1) Thye Janar U A TR e 12. 95
6 2039 LA HHEQ) TvEh 473 i HH & DNS
14%H (L +0.7)
IEhr V= fun - R4 Iy Prigth g 08k 2ivh
1 4 1028 =A FEAKQ) NECMELY] U H i 12.51
2 2 676 il A (D) WAGEEVYY & 12.67
3 5 1273 FaA (1) RGN VU A i & 12.71
4 1 1534 LA ZEIR(2) TYEh Vart MU T 12. 84
4 8 1027 f&mH EE(1) IR Yay MU H e 12.84 *TL
6 3 1005 HE&E f&#H(2)  tvd anay U H s 13. 04
7 6 2036 /IS ZR3f(1) vy v b 5 H = 13.10
8 9 2485 fHEL HEE AT vfta KK K~ AZ—X 13.78
7644 FIH &E(2) YIfT ana = DNS
1542 (Ja\:+0. 4)
EAE V= fon = K4 b PriEt i Aok /b
1 5 1814 A)) 442z (2) A ) AFAT S5 = 12. 28
2 3 1892 1P 2 (1) =7 7%7 J T8 =) 12. 56
3 6 1454 JIligr  E2(1) VAEREVES DU B T PR 12.70
4 8 1886 A H HA(1) )75 an% Ik 12. 74
5 2 2057 KM (1) VAV Hf & 13.10
6 7349 FER OBHQ) INVAEURVES L PE 13. 18
7 9 2053 RBIAF Ak (1) YA S 13.18 *TK
8 1 94 it 2k () TV AY FE AR 13.53
4 1547 {FrksoRE (1) VR EVZEY, MU T DNS
1648 (Ja:-0. 4)
IEAE V= = K4 Wt Prigth prjg AoEk A/b
1 5 1889 HH  #ifk (1) prh agtq Ik 12. 89
2 1 1567 P& A (D) LIt 9% B 12.94
3 3 671 /MR —EQ) I HATAh P 13.32
4 6 1543 1EEE—RA(1) VAVIZbaL e T 13.38
5 7 1549 BER KA (1) Jh7 A% U T 13.82
6 4 1058 TEMH  HEAK (1) M2y A= 13.98
7 9 1541 FEA  B(D 7V RN ahh U TS 14. 11
8 8 1056 3% (1) YhA anrfy il 15. 13
2 1280 b F(1) I F VU A 76 DNS

JL5 DNS:Ri5 *xTKEZHY *TLEZELL



— %% F100m

#F W R EHEER
ROER AT AR

IR EEER (KR) 10. 13 HiE E5L(HAREEKR) 2002 9H5H 14:15 #hl—x
B{hV=%  18%H
17%8 (R\:-1. 4)
ENE V= fon = K4 W gt g Ak AV b
1 3 158 JEH  #3F(3) 7V H anh U H T 11.71
2 2 1097 JEK i (3) AV S =EK 11.83
3 4 1544 el (D Thta 2k MU T 12. 06
4 8 1661 [l SR (1) Yvrh 737 stig=a 12. 34
5 5 1641 FHiL (2 TAYY BUR 8 12. 41
6 1 1658 S BrEL(1) tif tfv B 12. 53
7 9 1659 #ARE (1) AN MY e 12. 69
8 7 1562 [AH 2k (1) T Ay BT 12.70
9 6 4514 FiH —iE MU H HHTFC 12.97
18%H (Ja\:-1. 6)
JIEGE V= fun = K4 y FrEt i Aogk 2Avb
1 8 5373 A KFn(2) YN YR BEAEK 11.53
2 2 5365 BRO  HLHE(2) YT F 1 AT BEMEKR 11.68
3 3 1031 ZH A1) Y28 INH U H i 12. 64
4 5 2117 Ha HE (1) JuAY ) an k7= 12.69
5 4 1025 EiE SHEQ) AN TN ML= 13. 02
6 4140 JEH K 94 V7 tn KEHAC DNS
71277 HIE AAER (1) eng an) VU A i & DNS
9 1026 HJII (1) T U H s DNS

JL5 DNS:Ri5 *xTKEZHY *TLEZELL



